Data: Mercoledi 02 gennaio 2019

Codice foglio: 99712199425 Rev: //

UPPORTO NIPPLO

APARETE G1

T KIT FOR BULKHEAD
NIPPLE G1

CODICE
oot 1219940

Pos. | Codice/Code Descrizione Description Q.
1 11601200108 |NIPPLO PASSAPARETE G1 X G1 +DADO BULKHEAD NIPPLE G1 WITH NUT 1
2 53800403058 | SFAFFA FISSAGGIO NIPPLO PASSAPARETE G1 BRACKET 1
3 50100700091 |[RONDELLA PIANA PER M14 WASHER FOR M14 2
4 50501000132 |DADO ATB.M14-CH=22 H14 CL.8 UNI 7474 NUT M14-CH=22 H14 CL.8 UNI 7474 1
5 50200600054 |VITE TE M14 L=40 UNI EN 24014 SCREW TE M14 L=40 UNI EN 24014 1

120

A

?
A

A

current SAFETY regulations in place

ATTENZIONE: tutte le operazioni relative al montaggio, devono essere eseguite IN SICUREZZA secondo le norme vigenti.
ATTENTION: all the operations related to the assembling of these components have to be carried out in respect of the

OMFB,

HYDRAULIC COMPONENTS

pag.1

We reserve the right to make any cha

O.M.F.B. S.p.A. Hydraulic Components

nges without nofice.

Edition 2019.01 No reproduction, however partial, is permitted.
Via Cave, 7/9 25050 Provaglio d’Iseo (Brescia) ltaly Tel.: +39.030.9830611
Fax: +39.030.9839207-208 Internet:www.omfb.it e-mail:info@omfb. it




